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0.1+0.1+0.65=(c i S5 5

0.1+0.140.8=c 1 ,S= 5 =
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. ® _© | @
e
"‘“' | | _|' |
== L |
2 2
T | | allls
r.'1|+
— e —E
1~.:-|’ m“.
R ——— |
:x:u||. m|}
o B I | |
2 B == | |
1= 1 1
'-l’ I | ....l’ |
e

A-1-4 10.8 0.85 0.5 4.59
B-1-4 10.8 1 0.5 5.4
C-3-4 5.45 1 0.5 2.725
D-1-4 10.8 0.85 0.5 4.59
4-A-D 10 0.85 0.5 4.25
3-A-D 10 1 0.5 5
2-A-D 10 1 0.5 5
1-A-D 10 0.85 0.5 4.25
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(W (o THho!
A-4 0.75 0.85 0.5 0.3188
B-4 0.8 0.85 0.5 0.34
C4 0.8 0.85 0.5 0.34
D-4 0.75 0.85 0.5 0.3188
A-3 0.75 1 0.5 0.375
B-3 0.8 1 0.5 0.4
C-3 0.8 1 0.5 0.4
D-3 0.75 1 0.5 0.375
A-2 0.75 1 0.5 0.375
B-2 0.8 1 0.5 0.4
D-2 0.75 1 0.5 0.375
A-1 0.75 0.85 0.5 0.3188
2(AY) o> S
b Jeb 0 pF EL >
A-14 10.8 0.85 0.6 5.508
B-1-4 10.8 1 0.6 6.48
C-3-4 5.45 1 0.6 3.27
D-1-4 10.8 0.85 0.6 5.508
4-A-D 10 0.85 0.6 5.1
3-A-D 10 1 0.6 6
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2-A-D 10 1 0.6 6
1-A-D 10 0.85 0.6 5.1
S S THo!

G Jk o er EWY o>
A-4 0.75 0.85 0.6 0.3825
B-4 0.8 0.85 0.6 0.408
c-4 0.8 0.85 0.6 0.408
D-4 0.75 0.85 0.6 0.3825
A-3 0.75 1 0.6 0.45
B-3 0.8 1 0.6 0.48
c-3 0.8 1 0.6 0.48
D-3 0.75 1 0.6 0.45
A-2 0.75 1 0.6 0.45
B-2 0.8 1 0.6 0.48
D-2 0.75 1 0.6 0.45
A-1 0.75 0.85 0.6 0.3825
B-1 0.75 0.85 0.6 0.3825
D-1 0.8 0.85 0.6 0.408

2 o J5 pxo= 2 N0l Gl pro—ad gl (S S S5 x>

36.816-5.022=37.76
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A-1-4 10.8 0.85 0.1 0.918
B-1-4 10.8 1 0.1 1.08
C-3-4 5.45 1 0.1 0.545
D-1-4 10.8 0.85 0.1 0.918
4-A-D 10 0.85 0.1 0.85
3-A-D 10 1 0.1 1
2-A-D 10 1 0.1 1
1-A-D 10 0.85 0.1 0.85
2 g0 n THe!
o Jeb PF EW >
A-4 0.75 0.85 0.1 0.0638
B-4 0.8 0.85 0.1 0.068
C-4 0.8 0.85 0.1 0.068
D-4 0.75 0.85 0.1 0.0638
A-3 0.75 1 0.1 0.075
B-3 0.8 1 0.1 0.08
C-3 0.8 1 0.1 0.08
D-3 0.75 1 0.1 0.075
A-2 0.75 1 0.1 0.075
B-2 0.8 1 0.1 0.08
D-2 0.75 1 0.1 0.075
A-1 0.75 0.85 0.1 0.0638
B-1 0.75 0.85 0.1 0.0638
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D-1 0.75 0.85 0.1 0.0638

550 o8 J5 pxo= 2 Nol Gl pro—ad gl 350 (i JS x>
7.161-0.867—6.29

fed S b
cjﬂf".é&:)‘)}..pgﬁ\equtw‘)‘)}qud}b%l{6@‘&)%@%6@&,}@

255 g dalonn g0 e Do) g0 4 OT 4y 2]

A—1 A-2 A=3
b B B
A—4 A=-3
A—6 A=7
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A-1 M 1 13.1 0.1 131 M2
A-2 M 1 11.9 0.1 119  MA2
A-3 M 1 13.7 0.1 137 M2
A-4 M 1 7.4 0.1 074 M2
A-5 M 1 13.3 0.1 133 MA2
A-6 M 1 10.5 0.1 1.05  MA2
A-7 M 1 16.4 0.1 164  MA2
A-8 M 1 41.6 0.1 416 M2

frme 1279 MA2

A-1 M 1 13.1 0.5 6.55 MA2
A-2 M 1 11.9 0.5 5.95 MA2
A-3 M 1 13.7 0.5 6.85 MA2
A-4 M 1 7.4 0.5 3.7 MA2
A-5 M 1 13.3 0.5 6.65 MA2
A-6 M 1 10.5 0.5 5.25 MA2
A-7 M 1 16.4 0.5 8.2 MA2
A-8 M 1 41.6 0.5 20.8 MA2

3)91) § 8)Lo ojon [ ]




grms 6395 MA2

%0 (M (S ¥y N

g (0 LRI I 9 00 5 Cuwd S (51 SO i b K 0

G Jeb o EW >
A-1-4 10.8 0.85 0.1 0.918
B-1-4 10.8 1 0.1 1.08
C-3-4 5.45 1 0.1 0.545
D-1-4 10.8 0.85 0.1 0.918
4-A-D 10 0.85 0.1 0.85
3-A-D 10 1 0.1 1
2-A-D 10 1 0.1 1
1-A-D 10 0.85 0.1 0.85
g o 7.161
2 5% (8 T
A-4 0.75 0.85 0.1 0.0638
B-4 0.8 0.85 0.1 0.068
C-4 0.8 0.85 0.1 0.068
D-4 0.75 0.85 0.1 0.0638

3)91) § 8)Lo ojon [ ]




A-3 0.75 1 0.1 0.075
B-3 0.8 1 0.1 0.08
c-3 0.8 1 0.1 0.08
D-3 0.75 1 0.1 0.075
A-2 0.75 1 0.1 0.075
B-2 0.8 1 0.1 0.08
D-2 0.75 1 0.1 0.075
A-1 0.75 0.85 0.1 0.0638
B-1 0.75 0.85 0.1 0.0638
D-1 0.75 0.85 0.1 0.0638
Ean 0.995

7.161-0.995=6.166
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OAS* 2 lai* P +ad* P akite i s = oo 3 Kl U5k

D 1-1:
Ao Sl 15,58 e ol 80
65cm-(2*7.5)+(2*8)+2*2=70cm=0.7 m
D 2-2:
Fo Bl 7.5= 58z 5l 20=05
80cm-(2*7.5)+(2*10)+2*2=89cm=0.89 m
(S22 5l o se S She alols) / ((LaS*T) — sexxe Jsb) = o se 3,8Mee dlas
I opl s S Lol b 9 55 ey e I b 4 e (Bl 10 6875 8 a5 ol by 1S
el 0 (3 ST L1 LIS glal 3 &7 el (6 20 Sl 10 bl

A 1-4: 1100-(2*5)/15=72.66=73

B 1-4:1100-(2*6.5)/15=72.46=73

A 1-4 1100-(2*5)/15=72.66=73
B1-4 1100-(2*6.5)/15=72.46=73
C4-3 545-13/15=35.46=36

D 4-3 545-10/15=36

4 A-D 1020-10/15=68
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3A-D 1020-13/15=68
2 A-D 1020-13/15=68
1A-D 1020-13/15=68

ool 03900 aewlzo (s ooV Cronud Sly hdd [, _ao,c Sla 5,80 sliei lxid o ; apo i

i b ounl S 3,8lo liio U oS o wpo T o [ of Jlido Joax> @ 59,9 ol 5o
. ol 03,5 awlzo

s S

(3l 320 V¥ 51 53,5 W3 Ush ,ST) 51 sb) + (854T) + (H3IS*T) — 530 Alds Ugh = (g 3,5k Ush

Bl Sob 3 K Job
A 4-1,D 4-1 1100-(2*5)+(2*15)=11.2m
B 4-1 1100-(2*6.5)+(2*20)=11.27m
c4-3 545-13+40=5.72
4 A-D,1 A-D 1020-10+30=10.4
2 A-D,3 A-D 1020-13+40=10.47

NNt B

30.68-3.60=31.47
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5 FOR L, §10810cm s FOR L, 7007 0cm
- R n-21, §10820cm - R to-21, F10820cm
Ly
o Ry |

SEC [-1 SEC 2-2

37
== e
A
FOR L §708 fdem
FOR Ln-21, §10820cm
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c1 4 0.35 2.4 13.44 m? 4*4*0.35*2.4=13.44

C2 3 035 2.4 10.08 m? 3*4*0.35%2.4=10.08

c3 8 035 2.4 2688 m? 8*4*0.35*2.4=26.88
1Jsl anb

C1 4 035 3.2 1792 m*~ 4*4*0.35*3.2=17.92
C2 3 035 3.2 1344 m~“ 3*4*0.35*%3.2=13.44
c3 8 035 3.2 m 8*4*0.3*%3.2=35.84

35.84

C1 4 030 3.2 1536 m*~ 4%*4*0.35*3.2=15.36

C2 3 030 3.2 1152 m* 3*4*0.35*3.2=11.52

c3 8 030 3.2 3072 m 8*4*0.3*3.2=30.72
“ay

0.30

4*4%0.30*2.5=12
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187.2= S s

SOW (S ¥y O

C1 4 035 0.35 2.4 1176 m3 4*0.35*%0.35*%2.4=1.176

C2 3 035 035 2.4 0.882 m® 3*0.35%0.35*2.4=0.882

c3 8 035 0.35 2.4 2352 m3 8*0.35*%0.35%2.4=2.352
iJ sl anb

C1 4 035 035 3.2 1568 m3 4*0.35%0.35*3.2=1.568
C2 3 035 035 32 1176 m3 3*0.35*%0.35*%3.2=1.176
c3 8 035 035 32 3136 m3 8%*0.35*0.3*3.2=3.136

ch.ad.:.]a

C1 4 030 030 3.2 1152 m3 4*0.30*0.30*3.2=1.152
C2 3 030 030 32 0.864 m3 3*0.30*0.30*3.2=0.864
c3 8 030 030 3.2 2304 m3® 8*0.30*0.30*3.2=2.304

:M”"*J:S-

oy Jeb we gy slade w>lg
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Sl + ov JoIs + p = A, 58 SO Jgb
v el — v 9ls — Ly 5,8he S = v S

o o0 LN ity 8 Khuo Job &1 o Lt Elads il > 5302 455 (51 2 Lo2i

pSe o8 ipfe ] Fip Cope 30

50-7.5-1.8=40.7=(3 J&13
111.7=6+15+50+40.7=4d y 8 ;5o Job

o9 P OPW (035 W Elgw 43 4T o3 510 4y ) O yiuo JUE W i Wb Jb>
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] 120 55 oFrE
1o
FOR L. 10610cm FOR L. 706 10cm
FOR Ln=2L, §10820cm - row Lo=2L, §10620cm
SEC 1-1 SEC -3
JO -
e

FOF L @10870cm
FOR In-21, §10850cm

]
I_.-?L 5

SEC‘I J-J
Sec 1-1:10( yglo ,T Slwws)*111.7=1117
Sec 2-2:10( yglo ,T Slwws)*111.7=1117
Sec 2-2:8( 393l 4T Sluxs)*111.7=893.6
ol Cygaw 9B Ak 5 Jobo ool cuwiy Slus!

Column1=C2=Sec 1-1

Column3=Sec 2-2

C1,C2 7 10 1.117 2.066 161.54 Kg |

3)91) § 8)Lo ojon [ ]




8 8 1.117  2.066  147.69 Kg

JS m>  309.234 kg

g 4 I 3b 3580, T dulixo

SR g S 19 Coomd+aib Cwoliuot+aib gL 1 b o S Job

1.3
i4¢|=. —
3 [H] |
e 1080 850
T | | e R T —"
= e T EET
tn n
e in -
3 3 3
- L e &= b 4
Hm:vl_l S I HI"’—' | ¥, = | E2ENY
: — % — £ —
|‘.'-‘._1__, i‘j__. =
L L ‘ Ln :$:_ Ln
+ —
1 1 2
e - 4] | i = 4] | e -
Hw$| HfLE = ] * ¥, | : +, [
=i —Emr —EHer
. - Ln { ln S L
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K 4

- S

L=2.4+0.3+0.75=3.45

c1 4 10 3.45 2.066  285.108 Kg

C2 3 8 3.45 2.066 171.0648 Kg

c3 8 8 3.45 2.066 456.1728 Kg
JS &> 912.3456

Jol b

L=2.9+0.3+0.75=3.95

c1 4 10 3.95 2.066  326.428  Kg
C2 3 8 3.95 2.066 195.8568  Kg
c3 8 8 3.95 2.066 522.2848  Kg

S > 104457 kg

pgd db
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((woiw glasyl ) wl=d adub Ugiw J515 Couud + w0 J315 Cound + o5 15,8k Jgb
0 g lasyl — 50 5918 — 35 UYL 3)Sle 308 1 0 S5 Couwd

30-5-1.8=0.232=J515 Ceowd

L=0.25+0.232+2.9=3.382

c1 4 10 3.382 2.066 279.4885 Kg
c2 3 8 3.382 2.066 167.6931 Kg
c3 8 8 3.382 2.066 447.1816 Kg

JS x> 894.3631 kg

P55 h53160.5=0u 08 3,15 4 Job Slas Ko J5' 02

g o ) y9lo T
30
10
— 78020 | [ /]
is 30
- i j/\

2*2814 /
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pB@15

29 /

2*7¢14

(Jsb - Ge*T))*T)+(uese - (B*T))*T)+(T*p>) = wgsl> Jsb

2o Suilw & = )95

L1=(30-(2*4))*2+(30-2*4)*2+2*10=1.08m

L2= (35-(2*4))*2+(35-2*4)*2+2*%10=1.28m

2950 OgolE dlael + (il v @ Jaie Bgiw a5 @iy 53) ey 3D WeolS Sl = Weols sl
(Y * Vgiw aLigS ;> weols slasi ) + Ugiw lawg > Weols slasi + VU

tawgs j0 gl uy!

3)91) § 8)Lo ojon [ ]




((auisgS 95 wenls alold [ auigsS weol> alold) + | = auwgS weol> slasi
1+75/10=8=4ui o5 < gol>> Sz
16=2:%8=ml g Y S g0l Sl
Ugiw Jgb — ( augS j95 wgsl> alols ¥ 1) : buwg y95 weels> alols
2.4-(2*0.75)=0.9 158 3y

2.9-(2%0.75)=1.4:2 g1 dubo

( buwg 95 Weolb alols [ buwg Weols alold) + 1 = buwg Weols dlasws
Parking:90/20+1=6

1,2=140/20+1=8

g g g Cuowd JS10 30 D90l 3 9 (3 ) 30 Wl 3 S 4 4> 9l LA

ow!
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(eseLdeb (L5 *T)) + (> *T) = SSbxiow LWesl> Jgb
L=(35-(2%4))+(2%6)=39Cm=039m

3 Sk
S5 L gt o2y 3,She 4 27 1.28 0.395 546048 kg
o35 i 15,03, 4 27 0.39 0.395 166374 kg
S5 4L
S5 2 gt o2y 3,5k 3 30 1.28 0.395 45504 kg
O Bt >, 3 30 0.39 0.395 138645 kg
S5 42
S5 3 gt o2y 3,5k 8 30 1.28 0.395 121344 kg
Do Blri (>, 8 30 0.39 0.395 36972 kg

3913 9 8)Ls o) [ ]




S5 ,C3
1aabCl 5w (oo 0,50
LaabCl (g (Bloxi (o550 3,80
LaabC2 (g (po)s 3,50
14 bC2 g (Blxiw (o)e 5,8he
1aabC3 5w (o0 0,50
1aabC3 (g (Bloxiw (0550 3,800
223LCL Gy ((5)e 3 )SLs
248bCL g (Bloms ooy 3,5ke
264LC2 (yges (poy0 35
25bC2 (g (Boriw (o550 35k
224bC3 Ggiw (o5ye 38
248bC3 g (Blomuws (poye 3,5ke

aig BC1 gt (o0 25

S 0000 W W S~ B~ WO WWPSM~ P&

29
29
32
32
32
32
29
29
32
32
32
32
24

1.28
0.39
1.28
0.39
1.28
0.39
1.08
0.39
1.08
0.39
1.08
0.39
1.08

0.395
0.395
0.395
0.395
0.395
0.395
0.395
0.395
0.395
0.395
0.395
0.395
0.395

J &>

3)91) § 8)Lo ojon [ ]

58.6496
17.8698
48.5376
14.7888
129.4336
39.4368
49.4856
17.8698
40.9536
14.7888
109.2096
39.4368
40.95
910.3371
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24i o5 sl LIB WY o 5 Ao

A-B,3-4 C-D,3-4 A-B,3-2 B-D,3-2 A-B,2-1 B-D,2-1 | |5 x>

e 151

15.7 9.2 15.1 12.5 18.4 86

g Sw10=25—35=J0 s,
41.6 go= 5 9ol 39 Yo
%13.7=dly of y Lo
2055.3=als sl JB S5 202
g Slw35=uly IB sl
2 o A5 LI (g Amlxo
y010.8 AB,D y92
y05.25 C 5920

010 4939291 49500

o
I
86 0.1 8.6 M2

S48 4o 5 a5 aly N

anb
Sl Al 5 adeS oligS B 1

1

1

S8k a5 a8 B

1
1 55.3 0.35 19.355 m?
1 77.65 0.35  27.1775 m?

3)91) § 8)Lo ojon [ ]




SaS )l a5 (I puS 1 15 0.35 0.35  -1.8375 m?

1 dido 5 assS obisS B 1 1 86 0.1 8.6 m?

1 dib 5 abes aily B 1 1 55.3 0.35 19.355 m?

1 s 5 S B 1 1 77.65  0.35  27.1775 m?>

1t 5 35 S 1 15 0.35 0.35  -1.8375 m?
J &> 10653
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2 il 5 abeS aily B 1 1 55.3 0.30 1659 m?

2 dib 5 s B 1 1 77.65 0.3 23295 m?

2 dib 5 B S 1 15 0.3 0.3  -1.35 m?
diy pr Al 5 Ao oligS B 1 1 13.7 0.1 137 m?
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Beam4 2 5 2 1004 2 4016  Kg
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L1=(0.95/0.07+1)+(1.2/0.07+1)=32

L2=(3.38-0.95-1.2)/0.15+1=9

L1+L2=41

B-C

L1=39 L2=7 L1+L2=46

CD:L1=44 L[2=12 L1+L2=56
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1-2: 11=24 L2=6 L1+L2=30
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Beaml 143 2 286
Beam2 145 1 145
Beam3 54 1 54
Beam4 116 2 232
Beam5 121 1 121
Beam6 121 1 121
Beam7 143 2 286
Beam8 144 1 144
Beam9 54 1 54
Beam10 122 2 244
Beaml11l 121 1 121
Beam12 121 1 121
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L=4%*2.85%2+2.5%3%2+2%2*2.95+1.65*2*2=56.2kg
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L=3*2.85%2+2.5%2*2+2%2*2.95+1.65*1%2=42 2kg
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L=1*2*0.85+1%2%3.4=8.5kg

Beam?2 42.2 1 42.2
Beam3 13.2 1 13.2
Beam4 45.1 2 90.2
Beam5 44.6 1 44.6
Beam6 29.7 1 29.7
Beam?7 33.9 2 67.8
Beam8 27.3 1 27.3
Beam9 3.3 1 3.3
Beam10 6.8 2 13.6
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POS| LENGHT B T S X Y
J1 |[340<L<390| 2212 210 | #6.5 |#6.5825|86.58050
J2 |360<L<440| 2014 812 | #6.5 |#6.5025|26.5@50
J3 |450<L<550| 314 212 | 26.5 |#6.5825|26.5850
J4 |560<L<600| 316 212 | #6.5 |#6.5025|26.5@50
J5 |[610<L<675| 3818 214 | 268 |#6.5@25|06.5@50
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alle

1,38 3,5L 3 4 405 2 97.2
ao T 5,5Le 1 4 405 125 2025
Bras 18 08k i 97.2
e 14 38 o 20.25

B-C,3-4=J4

4> B >, Sl 3 3 405 1.66 80.676
a5 T 3Kl 1 3 4,05 0.92 14.904
Pran 16 ok o 80.676
By 12 38k s 14.904

C-D,3-4=J5

o, B 3,5k 3 4 405 2 97.2
N N 1 4 405 125 20.25
Bras 18 38k i 97.2
ae 14 3SLe o 20.25

A-B,2-3=J1
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4> 5B > Sl 3 4 1.2 0.92 13.248
a> 5T >, Xho 1 4 1.2 0.65 3.12
Py 12 58 i 13.248
Bras 10 o8k 0 3.12

B-D,2-3=]2

4 ,5B 5 Kle 3 10 1.2 1.25 45
a5 T 3, She 1 10 1.2 092 11.04
(B 14 38k i 45
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S 5 11.04

A-B,1-2=]3

4 ,5B 5, Sle 4 275 1.25 41.25
s T 5l 4 2.75 0.92 10.12
B pan 14 S8 is 41.25
B pan 12 5% )9 10.12

B-D,1-2=J4

4 ,5B 5 Sle 10 2.75 1.66 136.95
s T 5L 10 2.75 0.92 25.3
(B 16 38 i 136.95
I 12 380e s 25.3
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22% +10% = 24.16 - 24.16 X 2 = 48.33
405/20=20.25

20.25*48.33=979cm=9.79m

S (02 30 & 90 O Yo RO 4 90 92

19.58=23%9.79
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A-B,3-4 3 4 19.58 0.395 92.8092 KG
B-C,3-4 3 3 19.58 0.23 405306 KG
C-D,3-4 3 4 1958 0.23 54.0408 KG
A-B,2-3 3 4 58 0.23 16008 KG
B-D,2-3 3 10 58 023 4002 KG
A-B,1-2 3 4 1329 0.23 36.6804 KG
B-D,1-2 3 10 13.29 023 91701 KG
JSas 37179  KG

8 a5 s JSe= 928092 KG

6.5 4, oy JSe> 27898  KG

14 g

aslg

A-B,3-4 3 4 405 01 005 243 md
B-C,3-4 3 3 405 0.1 0.05 01825 m?
C-D,3-4 3 4 405 0.1 0.05 0243 m3
A-B,2-3 3 4 12 01 0.05 0072 md
B-D,2-3 3 10 12 01 005 o018 md
A-B,1-2 3 4 275 01 005 0165 m3
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